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1.1.2 ODO0OO
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dodooooooododouo, oo ouooboooooo, gooood
godgodou, bbb ooo. gbobooouoboooooooa
dobooooooobooooooon.
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OO0DO000,NewtonOOOQOGOOO," O0OO0OODOODOODOODOODOODOO
gooboogooooog” ,ggoboooooooboobo.bog,ggobobooooboo
goboboboooooobobobbbooooo. bbb oob* booooooubo
god,ooobbobobobbbbbbobbboo0” oo ooooooa,bbobobo
gobooobo,bgdobooooodo,ggobboooob.obobobooooboo
0oo0o00o0o*00000o00O0o0ooooag.
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e 00O (body force) 000000000 OOOOOOOOOOO. OO,000,
Coliois 00D 0D0DO00O0O00OO0,000000000O0ODODDDODOO.

e 000 (surface force)J0 0000000, 0000000000000 000OO.
udgdod,bbobbbboooodd0ooooouobobob, oo ogd
goobooooboboooo. ogobobooooobooog.

0000000000000000 (stress) 000. 000 MKSOOOOO Nm™2
Oo000OdD. “0”0000b00000oo0,0d0o00odoo0 NOoooooao
gooogoono.

*lgpoo00000O0o0O0O0ooOoooooog.



1.3 00000

122 0OO0O0OO

000000 POOOOOOO,0 POOODOOSOOO,SO0 POOOOOO
000000000000000000 (00 nO00000000000000)00
0o,T,000.000007T,0 SO0000,000000 nOO00O00. 00,0
00000000000000000000. 00000 T,0200000 1000
000000000.000,000002000000 (tensor) 0000,90000,
Ty (i, j=x,y,20000 1,2,3),0000000.*2 7; 000000000000.

0000000,z; 00000000000,2, 0000000000000000
0z 00000 »; 00000.0000,200000000000,2z0000000
0000000000 y0OOOOO 7,000 7, 00000.0

0D0o0oO0oooooooon,

T ,=-T, (000000,7_,=—Ti) (1.1)

ggoooo.

0000000000000 00000000000,000000000 (tangential
stress), 00000000 (shear stress), 00 00O (normal stress) 00 0. 00000,
00000000000000 (pressure), 00000000000 (tension) 00 0.
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0D0000000000000,000000000000000000000000

0D000000.000,00000000 z,v,-00000000001,2,3000,
0D00000000000000000000 20000000000000000, O
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1.3 00000
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1.3.1 Lagrange 00O (Lagrange 00O 0O)

O00000,000000000000O0DOO000,00O0DbOO00O0DODOO0ODO
O000DO0OD0O00000. D0OD0ODODOO000000o0oooooooooobooog
OO00ODO000oooOO0. 0000 NOOOoooDoooooooooo,oooooogd
0:00 (:=1,2,...N)00O0O0O0O0D0O0O0 +000000 7 = (x,y,2,) 0000
0O0.000¢000000 (D0DD0O0O0)0U0OO0O. 0DO0O,0000000D0O0,000
O000000b00ob0o0ob000. bobooboobooooDboooDboobOoooDo
OO0O0000O00,000b00o0boboo0obo0ooooooooboooobooono. oag
00000 (t=0)000000000.¢t=000000000 a=(a,b,c)000
00000000000000000 e0000 (a,b,c)00000. (a,b,c) 000
O O 0 material coorinatesd O 0O 0O 0O O .

O00000DOO00DOO0ODOO0O0DbDO 20000.

e I0OO:0D0DOODLOODLO,0DL0DOUOD eODDLODOOD.
e 0D DbODODOOObODODODODODODODODLDDODODLDO. DDDDbOODDODODL,000OO
000000000000000 (00DoO0UO000)0oDoooUoOoooo.
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OD000 (Lagrange 00 0) D000 (0oo)
oooooo 0000 a=(a,bc): 0000 i0 0000
O00,00000 v(a,t) v;(t)
oooo S=(2), 4

011 00000000 LagrangeOOOOO0OODOOOOOODODODO.

Lagrange O O
00000000000 OO0o0obOO0o0bOoO0,0000,0 LagrangeO OO OO OO
0O 0O O, material differentiationd 0 O O
D
Dt
ogo.* Lagrange DO D00, 00O F(a,t) (aDDDDDDDDDDDDDDDD.
000,00000,0000) 0 Lagrange 000

% - (%f)a (1.2)

d
ggobo.obobobooooobooan §DDDDDDDDDD.

ooooboob,011go0boooo.

0
00000000000 0 Lagrange 000, 000000000 w000, OO,
v:%DDD.DD,DDDDDDDD %DDDDDDD.

1.3.2 Euler0OO (EulerO0OQ)

Lagrange 000000000 0OOOOOOOODOODOOO,000000000D00O
gooooboobodoodub.ooobbobo,bbooobbboooU. oo, 00od
yjoddddodd. oL LD, 0000000 UoUUOQ
ObOoo00o0o0o0,b0b0b00bD. Dobobo0, Lagrange0 00O OO0OOOO, 00O
gooboboooooboboboodo, bbb bobo, oo bboooo, ™
0,00)0000,000.00000,0000000000 EuerDOOOO0O.

400000000, Lagrange 000 & 000D0ooooooO.

000000000000 000D0O00D0,00,000,000000000000000,00000
00000000000 Lagrange OOOOOOOOO.
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Euler 0000 Lagrange 00O O000O0O0OCOO0O, 00 z,y,2z 0 Lagrange 0 00O
000000 (0000000000000 D)000o00, EWer0000O00OOOO0O
ooooooo.

1.3.3 LagrangeO OO EulerO0O0O

000000000000o00 FOEuerOOOO F(z,y,2,t) D00. O0OOO
Lagrange 000 Euler D000 0O000O0OO0D0OO0O0O. DOO0O ¢t0 r=(z,9,2) 0
00000000,00 t+At0000 7+ vAt = (x 4+ uAt, y + vAt, z+wAt) 00
O00000. 0000000000000 FOOO AF O,

AF = F(x + ult, y + vAt, z + wAt, t + At) — F(z, y, z, t)
B (8F OF OF  OF

o or  oF or 2
5 Tl TV 9 +w 8z)At+O<(At> ),

DF . AF oF oF oF oF
Dt B TR

150 At ot oz ay " oz (13)

D00000. 000 O((AY?) 0 At00D0000D0O0O0. FOOOODODOOO,
Lagrange 000 Euler 00000 O
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Dt ot " ox U@y Yoz
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OO0 2000000000000000.
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Langrange O 0 O Euler 00O
oo goo g
oo0o0d a = (a,b,c),t r=(z,y,2),t
oooo r;p,p, T, ... v = (u,v,w);p,p, T, ...
Lagrange 0 O, % (%)a (%)r—i—v-v
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00 T0O Lagrange 00O Euler 00O 0OO0ODO0O,
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0.00,0000 2 =0000,00000000000000
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000000000. 0000 ¢-00000000000000 v=vj,v=-10m/s?0000
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3. 00000000000000000 0.3kPa/180km DODODOOODOODO.
0000 10km/h 000000000000 OO0OOODO 0.1kPa/3h 000
. bobbbooddogoooo,jdggooooobbbbbooooooog
D000000o0o0oooooooon. *
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